
 

 

Answer on Question #48667 – Math – Statistics and Probability 

There are 17 customers who have entered the drawing. 4 live in the town of Gaston, 7 live in Pike, and 6 

live in Wells. In the drawing the first customer will be selected random, and then the second customer will 

be selected at random from the remaining customers. What is the probability that both customers selected 

are wells residents? 

Solution 

The probability that the first customer lives in Wells is 

𝑃1 =
6

4 + 6 + 7
=

6

17
. 

Now if the first customer lives in Wells there are 16 customers who have entered the drawing. 4 live in the 

town of Gaston, 7 live in Pike, and 5 live in Wells. 

The probability that the second customer lives in Wells is 

𝑃2 =
5

4 + 5 + 7
=

5

16
. 

The probability that both customers selected are wells residents is 

𝑃 = 𝑃1 ∙ 𝑃2 =
6

17
∙
5

16
=

15

136
≈ 0.11. 
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